TECHNOLOGIES

&, SHAPESHIFT
A 4

ShapeShell™-RC Facade Cladding

Installation
Guide

1SO 9001




e 2400MM e

ShapeShell™-RC Standard Panel Size

---- 590mm ----

---- 590mm ----

--= 3000MM - - s

S 21010

More to Come



Standard ShapeShell™ Facade Panel Railing and Attachment:
Attachment System Features and Benefits

The ShapeShell™ Railing and Attachment System is engineered specifically for use with
the Standard ShapeShell™ RC Facade Panel Range. Designed to simplify installation,
ensure structural integrity, and enhance the visual appeal of facades, this package
integrates precision-engineered components and high-quality materials to meet the
demands of contemporary architectural projects. (Include this system is designed to
simplify installation and panel handling, attachment system helps to ensure safe &
simple handling of the panels.

* Easy Adjustment: The system offers up to +20mm of on-site adjustability,
allowing for easy alignment to accommodate building tolerances. This flexibility
helps minimise installation errors and ensures consistent alignment across large
facade installations.

* Durability and Corrosion Resistance: Manufactured from aluminium and
Grade 316 (SS316) stainless steel, the attachments are highly corrosion-resistant,
providing superior longevity even in challenging environments, such as coastal
regions or high-pollution zones. This durability ensures a longer lifespan for the
facade system, minimising ongoing maintenance requirements.

* Effective Load Transfer: The combination of deadload and windload brackets is
specifically engineered to manage both vertical and lateral forces, ensuring
consistent performance in varying conditions. Unlike typical NV3 bracket
systems, which are not designed for the specific demands of GRC panels, this
robust system is purpose-built to effectively support their weight, delivering
dependable performance throughout the building's lifecycle.

* Ease of Installation: The adjustment capabilities and straightforward hook-on
method allow for safe and efficient installation, significantly reducing both time
and complexity.

* Concealed Fixings: Integral to the system, concealed fixings minimise the visual
impact of structural components. This ensures the fagade’s architectural design
remains the focal point, creating uninterrupted and seamless surfaces.



Panel Installation Guideline

STEP 1: Position & Install Wall Brackets

o
™
M12 SS316 WALLANCHOR ———— I
-+ 20 MM )

SSRCP-BR1 (SERRATED BRACKET)
SSRCP-WA1 (SERRATED WASHER)

M125$316 NUT ———————

STEP 2:: Install Horizontal Rails

SSRCP-RA1 (RAIL)

SSRCP-WAI1 (SERRATED WASHER)
M12 55316 NUT

16

STEP 1. SETOUT BRACKETS AND
SECURE TO WALL STRUCTURE

— STEP 2. INSTALL RAILS




SET FINAL POSITION OF BRACKET
STEP 3: Prepare Panel Brackets WHILE LIFTING INTO POSITION

SLOTTED ADJUSTMENT S Z

-4 4 MM 3 9
o
55316 LOCKING TEK SCREW ONCE -~ °
FINAL POSITION OF BRACKET IS SET o P

M12 55316 FIXINGS ——&
SSRCP-BR2 & BR3
(DEADLOAD HOOK BRACKET)
DEADLOAD
BRACKETS
Q
o
o
o
N o
$5316 LOCKING TEK SCREW ONCE 5
— 0 g
FINAL POSITION OF BRACKET IS SET iy
o
M12 S5316 FIXINGS —— ® *,  WINDLOAD
/ “, BRACKETS
SSRCP-BR4 (WINDLOAD HOOK BRACKET) k

1

| of

e

e 3
o
o >

STEP 4a: Lifting The Panels

/ \
@14mm LIFTING HOL! / \

i \
mﬁ? \1\;@!&
@14mm LIFTING HOLE: . F N / 15° LIFTING ANGLE MAX | a
jg: j \
! i
o 7} A
! hY
! A
. .
o
. .
o
o . -
o
. -
le
=
|




18

STEP 4b: Safe Rotation & Panel Handling Guidelines

PROTECT EDGE
DURING ROTATION

PROTECT EDGE
DURING ROTATION

STEP 5: Install Panels into Rails

Panel Lifted into position. Tek screws are used to fix hook brackets to Aluminium
panel rails after final adjustment. They can be installed before lifting the panel OR
after test fitting panels on rails.




STEP 6: Adjust heights and lock off panels

After Final Adjustment of panel, pack underneath adjustment Panel is then fixed into position using Tek screws.
angle using provided aluminium horseshoe packers.

FINISHED INSTALLATION

19



3000

‘M10x40 SS 316

M6 ROUND WASHER
SS316 TYP

M6x12 SS 316
BOLT TYP

SD500 SCREW TO FIX HOOK BRACKET TO

PANEL RAIL AFTER FINAL ADJUSTMENT
M10 SS 316 BOLTED
CONNECTION

M10 SS 316 BOLTED
CONNECTION

M10 SS 316 ADJUSTMENT BOLT,
TIGHTEN/LOOSEN BOLT+/- 5mm
FOR FINAL PANEL ADJUSTMENT
'ONCE PANEL HAS BEEN PLACED

M10 SS 316 BOLTED CONNECTIO!
SD500 SCREW TO FIX HOOK BRACKET TO
PANEL RAIL AFTER FINAL ADJUSTMENT
SD500 SCREW TO FIX ADJUSTMENT-
ANGLE TO RAIL AFTER FINAL
ADJUSTEMNT N RAIL.
PACK USING ALUMINIUM HORSHOE
1SO VIEW PACKERS
NES HORSESHOE PACKER

M10 SS SPRING WASHER

SD500 SCREW TO FIX HOOK BRACKET T¢
PANEL RAIL AFTER FINAL ADJUSTMENT

150 VIEW M10 SS 316 BOLTED CONNECTIO!
NTS
SD500 SCREW TO FIX HOOK BRACKET T
PANEL RAIL AFTER FINAL ADJUSTMENT
M10 SS 316 BOLTED CONNECTI
0
0
1SO VIEW
1S0 VIEW L
NTS
P=——M10 SS SPRING WASHER
960
SIDE VIEW BACK VIEW
SCALE: 1:20 SCALE: 1:20
| 150 | 1SO VIEW
NTS
8. 9 TOP VIEW
v L SCALE: 1:20
& Il - 70x40x8 ALUMINIUM RAIL ANGLE
@ 014 LIFTING HOLE
@14 LIFTING HOLE L
~ 212 ADDITIONAL BOLT HOLE LOCATIONS
N 12mm DEADLOAD FOR HOOK BRACKETS
HOOK BRACKET 9 7fREFER RAIL AND BRACKET SETOUT ‘:| FORBPPROVAL T C—M
80x80x8 ALUMINIUM o ! ‘ DRAWING. REVISION DESCRIPTION | DRAWNBY|  DATE
q ADJUSTMENT ANGLE ADJUST HOOK BRACKET LOCATION
~——HORSESHOE ALUMINIUM PACKER, pr|
J i S TANDARD SIZE K 6mm WINDLOAD HOOK BRACKET
L ——60x60x8 ALUMINIUM RAIL ANGLE |
R SD500 SCREW 3 - PANEL TYPE 1 " 10F1
5 «
012 ADDITIONAL BOLT = | o
HOLE LOCATIONS O P TABILE TOLERANEE GENERAL ARRANGENENT AS SHOWN @ A3
FOR HOOK BRACKETS [ OVERALL FEIGHT AND WIDTHOF UNITS | 4 35 s = ==
REFER RAIL AND MEASURED AT THE FACE ADJACENT TO THE | 23013 51 omm ) @ = 1
BRAGKET SETOUT 66t FeruRn omeomeens
THICKNESS +
DETAL 1 ADJUST HOOK DETAL 2 [PANEL DEPTH FROWM FACE OF SKIN TO BACK|
SCALE-1:20 BRACKET LOCATION SCALE:1:20 VARATION FRO SOUARE OF DL GATED
TO sUIT ) 'SKEW (DIFFERENCE IN LENG Smmizm OR e ACETABES AT MR THE DOCLMET, NOR THEONTA LU AL, St B UPLICTED O
IAGONAL MEASUREMENTS) (WHICHEVER IS GREATER) wnwmw‘mﬁk WHETHER IN WHOLE OR IN PART, | unxmwmmwmwsvfz.‘mwnmu:mur
M10x40 SS 316
BOLT TYP
SD500 SCREW TO FIX HOOK BRACKET TO
PANEL RAIL AFTER FINAL ADJUSTMENT
M10 SS 316 BOLTED
MG ROUND WASHER CONNECTION
M 6x12 SS 316 M10 SS 316 BOLTED CONNECTIO! gg%:gé}?oilonm
BOLT TYP SD500 SCREW TO FIX HOOK BRACKET TO $110 52 16 ADIUSTVENT BOLT,
PANEL RAIL AFTER FINAL ADJUSTMENT TIGHTENLOGSEN BOLT+- bt
FOR FINAL PANEL ADJUSTMENT
ot T R DS S TMENT: ONCEPANEL HAS BEEN PLAGED
T T
ABUSIENN PACK USING ALUMINIUM HORSHOE
1SO VIEW e
TS, HORSESHOE PACKER
M10 SS SPRING WASHER
g
3
SD500 SCREW TO FIX HOOK BRACKET T
PANEL RAIL AFTER FINAL ADJUSTMENT
1S0 VIEW M10 SS 316 BOLTED CONNECTIO!
NTS
SD500 SCREW TO FIX HOOK BRACKET T
PANEL RAIL AFTER FINAL ADJUSTMENT
M10 S 316 BOLTED CONNECTI
0
0
1SO VIEW
1S0 VIEW IS
NTS
——M10 SS SPRING WASHER
18,140 .
SIDE VIEW BACK VIEW
SCALE: 1:20 SCALE: 1:20
— 1SO VIEW
NTS
18, 9 TOP VIEW
v L SCALE: 1:20
& 1 70x40x8 ALUMINIUM RAIL ANGLE
L3 /—014 LIFTING HOLE
e 1“2“‘ H EE:SL*(‘;’\;E [mz ADDITIONAL BOLT HOLE LOCATIONS
mm FOR HOOK BRACKETS
HOOK BRACKE g I REFER RAIL AND BRACKET SETOUT ‘:| FOR APPROVAL I ﬂ
80,808 ALUMINIUM o I ‘ DRAWING. REVISION DESCRIPTION [ DRAWNBY|  DATE
g SOIOIMENTANCLE. PACKER, ADJUST HOOK BRACKET LOCATION
P e
o 5mm STANDARD SIZE b -6mm WINDLOAD HOOK BRACKET
1 \——60x60x8 ALUMINIUM RAIL ANGLE B
R SD500 SCREW == PANEL TYPE 2 " 10F1
5 o
212 ADDITIONAL BOLT - Jsou:
HOLE LOCATIONS e AN T GENERAL ARRANGENENT AS SHOWN @ A3
FOR HOOK BRACKETS [ OVERALL FETGHT AND WIDTH OF UNITS | p=m =
REFER RAIL AND NEASURED AT THE FACE ADJAGENT TO THE = 1
BRACKET SETOUT MOUD
DETAIL 1 DRAVING YHICK?ESS
ADJUST HOOK FFROM FACE OF SKIN TOBACK |
SEALETIZ  BRACKET LoGATION SRET 0 %%MRF“EM e
Tosum . 'SKEW (DIFFERENCE IN LENGTH OF A R e iy fichiy s i
DIAGONAL MEASUREMENTS) (WHICHEVER IS GREATER) g..gg:‘:mml Sl il nux[é‘;&‘ﬁémw‘w‘n‘s“ﬁ"‘;ﬁmm&w

20




1190

=
é

M10x40 SS 316
BOLT TYP

SD500 SCREW TO FIX HOOK BRACKET TO
PANEL RAIL AFTER FINAL ADJUSTMENT

M10 SS 316 BOLTED

1 CONNECTION
o
< M10 SS 316 BOLTED CONNECTIO! géng}foionm
M6 ROUND WASHER SD500 SCREW TO FIX HOOK BRACKET TO
$S316 TYP M10 SS 316 ADJUSTMENT BOLT,
e PANEL RAIL AFTER FINAL ADJUSTMENT TISHTENLOGSEN BOLTS. S
X FOR FINAL PANEL ADJUSTMENT
BOLTTYP o L oA LS MENT: ONCE PANEL HAS BEEN PLACED
o ADJUSTEMNT N RAIL.
e PACK USING ALUMINIUM HORSHOE
1SO VIEW PACKERS
TS HORSESHOE PACKER
8 o M10 SS SPRING WASHER
g g
of \
< SD500 SCREW TO FIX HOOK BRACKET T
PANEL RAIL AFTER FINAL ADJUSTMENT
1SO VIEW M10 SS 316 BOLTED CONNECTIO! M
NTS
SD500 SCREW TO FIX HOOK BRACKET T
( o PANEL RAIL AFTER FINAL ADJUSTMENT
i & M10 SS 316 BOLTED CONNECTIO
i
£ 1SO VIEW o
b= NTS b
18,1 40 960 0
1SO VIEW
SIDE VIEW BACK VIEW NTS
SCALE: 1:20 SCALE: 1:20
10 SS SPRING WASHER
®
‘ 1190
TOP VIEW
SCALE: 1:20 1SOVIEW
18 o NTS
8 [ i 70x40x8 ALUMINIUM RAIL ANGLE
@ /014 LIFTING HOLE
o 13 LUFTING HOLE 12 ADDITIONAL BOLT HOLE LOCATIONS
~—|——12mm DEADLOAD <] FOR HOOK BRACKETS
7 o |
HOOK BRACKET REFER RAIL AND BRACKET SETOUT . S— TR APV [ 2 L2
| | — 80x80x8 ALUMINIUM AN REVISION DESCRIPTION | DRAWNBY| __ DATE
q | ADJUSTMENT ANGLE 3 ADJUST HOOK BRACKET LOCATION
| | ~ —HORSESHOE ALUMINIUM PACKER, b
J i S TANDARD SIZE S 1 6mm WINDLOAD HOOK BRACKET
L \——60x60x8 ALUMINIUM RAIL ANGLE g | 9
R SD500 SCREW oL s PANEL TYPE 3 " 10F1
e «
212 ADDITIONAL BOLT E =
HOLE LOCATIONS T N e ABTE TOLERAGE GENERAL ARRANGEMENT AS SHOWN @ A3
FOR HOOK BRACKETS [ OVERALL FEIGHT AND WIDTHOF UNITS | 43¢ 5 o e o
REFLR RAIL AND REAGORED AT THE FAGE ADUAENT To e | £3medmm © = [
BRACKET SETOUT s Pe—
DRAWING. THICKNESS -
DETAIL 1 ADJUST HOOK DETAIL 2 PANEL DEPTH FRON FAGE OF SKIN T0 BAGK — p—
SCALE: 1:20 BRACKET LOCATION DETALZL OF PANEL FRAVEE OR INTEGRAL RIB
<O SUIT VATATION FFROW SOUATE OF DESIGNATED T e
DIAGONAL NEASUREMENTS) (WHICHEVER IS GREATER) [43,C515 N iARe AN, WETIER WA O A, Aok DECIGSE 10 GVARS NTHOT T LRI WA COREH o
i ! g M10x40 S8 316 SD500 SCREW TO FIX HOOK BRACKET TO
! ‘—@ PANEL RAIL AFTER FINAL ADJUSTMENT
Il 3 {-—M10 SS 316 BOLTED
N ¢ CONNECTION
o
E: {~—M10 SS 316 BOLTED
e M10 SS 316 BOLTED CONNECTIO
M6 ROUND WASHER CONNECTION
SD500 SCREW TO FIX HOOK BRACKET TO
SS316 TYP M10 SS 316 ADJUSTMENT BOLT,
A PANEL RAIL AFTER FINAL ADJUSTMENT TIGHTENLOGSEN BOLT+- bt
! FOR FINAL PANEL ADJUSTMENT
BOLTTYP iﬁg{%ﬁ%ﬁﬂfﬂ?ﬁ“ﬁf,ﬁTMENT ONCE PANEL HAS BEEN PLACED
o ADJUSTEMNT ON RAIL.
g PACK USING ALUMINIUM HORSHOE
1SO VIEW Nt
NTS HORSESHOE PACKER
8 ki M10 SS SPRING WASHER
| e
3 S
< SD500 SCREW TO FIX HOOK BRACKET T
PANEL RAIL AFTER FINAL ADJUSTMENT
150 VIEW M10 SS 316 BOLTED CONNECTIO! M
NTS
SD500 SCREW TO FIX HOOK BRACKET T
i PANEL RAIL AFTER FINAL ADJUSTMENT
N M10 SS 316 BOLTED CONNECTIO
E 1SO VIEW o
= NTS b
18 40 0
1SO VIEW
SIDE VIEW BACK VIEW UL
SCALE: 1:20 SCALE: 1:20
———M10 SS SPRING WASHER
®
500
TOP VIEW
SCALE: 1:20 1SO VIEW
18 % Ll
| ‘ I} - 70x40x8 ALUMINIUM RAIL ANGLE
L3 014 LIFTING HOLE
BISLFTINGHOLE /—mz ADDITIONAL BOLT HOLE LOCATIONS
N |——12mm DEADLOAD ¢ FOR HOOK BRACKETS
HOOK BRACKET 9 7[REFER RAIL AND BRACKET SETOUT Frevistont oRsotL I Du—mﬁ%
- | —80x80x8 ALUMINIUM 3 . DRAWING.
g ADJUSTMENT ANGLE S ADJUST HOOK BRACKET LOCATION
~—HORSESHOE ALUMINIUM PACKER, b
o e STANDARDSIE 1 . 6mm WINDLOAD HOOK BRACKET
1 \——60x60x8 ALUMINIUM RAIL ANGLE E
ol SD500 SCREW i || ™ PANEL TYPE 4 - 10F1
3 o
212 ADDITIONAL BOLT < -
HOLE LOCATIONS - T T P TFBTE TOIEEE GENERAL ARRANGEMENT AS SHOWN @ A3
FOR HOOK BRACKETS [ OVERALL FETGHT AND WIDTHOF UNITS | 25 4 5 = p=m =
REFER RAIL AND MEASURED AT THE FACE ADIACENT TO THE | S350 305 (6mm haas) s 4
BRACKET SETOUT L T rm—
DETAL 1 NS THICKNESS + o
PANEL OEPTH FROM FACE OF SKIN TO BACK | , 10 e— P
SCALETIZ0  BRACKET LOCATION SCHLE 120 e e
Tosurm . HOFTWO | mmi2m OR G o R T U1 LA 1T REER T DOCIEMT, O 1 ATA L0t ERE, UM 6 DOFIATED O

‘SKEW (DIFFERENCE IN LENGT}
DIAGONAL MEASUREMENTS)

(WHICHEVER IS GREATER) [iocacs N e wharSoe i ik omir O AT % DECLCAE 10 OGRS, WITOUT THE RS WA TN Cn o
[

ik

21



\/‘
t{) SHAPESHIFT @ ShapeShell

Contact Us

BUSINESS DEVELOPMENT EXECUTIVE SALES & MARKETING EXECUTIVE
Frank Rosselli Zsolt Tomo

& frankr@shapeshift.tech & zsoltt@shapeshift.tech

(O +61400 241784 (O +61405 068 998

@ +6173666 0007 @ +6173666 0007

@ shapeshift.tech @ shapeshift.tech

get in touch for
more information

BUSINESS DEVELOPMENT LEAD
Sam Seewan

sam@shapeshift.tech
+61 433 553 329
+6173666 0007
shapeshift.tech

SN AGHK



mailto:sam@shapeshift.tech
https://shapeshift.tech/
mailto:frankr@shapeshift.tech
https://shapeshift.tech/
mailto:zsoltt@shapeshift.tech
https://shapeshift.tech/

